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ANSWER KEY

PART II: READING COMPREHENSION (30 MARKYS)

Passage 1
A. Choose the best answer (a, b or ¢) according to passage 1. (5%2=10 MARKS)

1.

>0 wWO

2
3.
4.
5

Passage 2
B. Complete the table below with information from passage 2. (10x1=10 MARKS)

Early spring

Around 960 A.D

Purity

1760s

Strength and flexibility
11 century

Sushi

Life and rebirth

. Late autumn

10. Poetry
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Passage 3

C. Put a tick (V) in the right box to indicate whether the following statements are
TRUE or FALSE according to passage 3. (5x2=10 MARKYS)

1. False
2. False
3. True
4, False
5. True

PART Ill: USE OF ENGLISH (40 MARKYS)

A. Read the following text and choose the alternative from A, B or C to fill each gap.
(6x 0.5= 3 MARKS)

. was robbed

. has been open

. heard

. did not steal

. was hurt

. store
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B. Read the following passage and circle the correct word. (7x1=7 MARKYS)

=

much

tend

more

have been trying
of

which

latest

NoohkwhN

C. Use the word in capitals and other words, to complete the second sentence so
that it has a similar meaning to the first sentence. Do not change the form of the
words in brackets. (5x2=10 MARKS)

never used to go / didn’t use to go

have never visited / have never been to
is too little milk

wish George could come / George came
studied hard, | would not have passed
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D. Read a part of an article entitled ‘Understanding the Teen Years’ and CIRCLE the
correct adjective.

E. Complete the text with the correct form of the words in brackets.

=
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different
normal
important
physical
clear
dramatic
independent

powerful
anger
behaviour
jealous
satisfied
decision

F. Match the questions with the answers

NookwdhE
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(7x1=7 MARKS)

(6x1=6 MARKS)

(7x1=7 MARKS)



